ecl-machine2-realizes®?22

Vi:Id, ds:x:1d fp— Type, da:k:Knd fp— Type, T:Type, ks:Knd List, upd:update-spec(ds;da),
a:(N —(k:{k:Knd| (k € ks) }—State(ds)—Valtype(da;k)—T— B)).
—"ecl” € dom(ds)
= Normal(T)
= Normal(ds)
= Normal(da)
= (Vkeks. isrev(k) = i = destination(Ink(k)) € Id)
= update-spec-decl(upd;ds)
= ecl-machine2(i;ds;da;” ecl”;T;ks;a;upd)
Ik es.Vzeupdate-spec-vars(upd).
es-decls(es;i;ds @ Vecl” : T;da)
= vartype(i;z) C p ds(z)
& Ve@ji.
Ve'>e.(z after ¢’)

es-trans-state-from{i:1} (es;ks;
Ak,s,0,2".
list_accum(z’,nf.nf /n, f.
if a(n,k,s,v,s("ecl”))—
f(s0)
else 2’ fi;
2
upd({k, z))nil);z when e;e;e’)
€ ds(z)
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